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Directions for the following 5 (five) items: Read the
following two passages and answer the items that follow
each passage. Your answers to these items should be
based on the passages only.

Passage (Set-A Q. 1-3)

In recent times, India has grown fast not only compared to
its own past but also in comparison with other nations. But
there cannot be any room for complacency because it is
possible for the Indian economy to develop even faster
and also to spread the benefits of this growth more widely
than has been done thus far. Before going into details of
the kinds of micro-structural changes that we need to
conceptualize and then proceed to implement, it is
worthwhile elaborating on the idea of inclusive growth
that constitutes the defining concept behind this
Government’s various economic policies and decisions. A
nation interested in inclusive growth views the same
growth differently depending on whether the gains of the
growth are heaped primarily on a small segment or shared
widely by the population. The latter is cause for
celebration but not the former. In other words, growth
must not be treated as an end in itself but as an
instrument for spreading prosperity to all. India’s own
past experience and the experience of other nations
suggests that growth is necessary for eradicating poverty
but it is not a sufficient condition. In other words, policies
for promoting growth need to be complemented with
policies to ensure that more and more people join in the
growth process and, further, that there are mechanisms in
place to redistribute some of the gains to those who are
unable to partake in the market process and, hence, get
left behind.

A simple way of giving this idea of inclusive growth a
sharper form is to measure a nation’s progress in terms of
the progress of its poorest segment, for instance the
bottom 20 per cent of the population. One could measure
the per capita income of the bottom quintile of the
population and also calculate the growth rate of income;
and evaluate our economic success in terms of these
measures that pertain to the poorest segment. This
approach is attractive because it does not ignore growth
like some of the older heterodox criteria did. It simply
looks at the growth of income of the poorest sections of
the population. It also ensures that those who are outside
of the bottom quintile do not get ignored. If that were
done, then those people would in all likelihood drop down
into the bottom quintile and so would automatically
become a direct target of our policies. Hence the criterion
being suggested here is a statistical summing up of the
idea of inclusive growth, which, in turn, leads to two
corollaries: to wish that India must strive to achieve high
growth and that we must work to ensure that the weakest
segments benefit from the growth.

ferferRaa 5 (ate) wgien & forg fder: TRad g1 uR=oq! &t
qfev 3R Tcde giese & 31 317 giet AT @ SN oyl 5
yeien & 39 9N 37 URTHS! X & TR 819 T1fevl

gRTeT (Set-A Q. 1-3)

Tl & auf #, MRS T Paet Gg 3 ST 6T o ¥, afead 3
ot Y gerr F off, Ieht A RreRra gom 31 feeg s Rl
STCHHANY Y JoTSer T8 & AT, FANfP WRAT Irfegawer &
fore swsy off arfres i Ry =T iR 591 wafg & ol &Y, o
T freT i T & SO Bl e warasd B W, e
AT T TG eIl Fo9E 81 I &H-GREcTd TRacl & ShRI b
@R ¥ T W ge, R B SeT weY oI R 9
FRIfrad a7 At TR &, TN gl & R o R &
@A WTeiw g, S 6 59 wRaR o fafie s it sik
ferofal & N v frveue Wareae fiffa avar 81 wemaeh wafe
BRI TE aTeT I S ¥gfg Y U i wU F ST § o 39 R
3menRRa & o6 T Wgfg & @il T SN & U@ Bl R W)
& 3R o fear T § ar s W A e Bu @
ATRSRT B R Wafg F il & ue U F AN 7 A 77
et &1 919 8, W 3FR Wafg F ATV 0P R W) & b &, ar
TEN TR TR H, WG BT 37U 3T F T AT P ARG TS ST
ST S, few R i T F=TaT T & Uob ATeT & B H
<@ ST AR W%W%ﬁa%mwmw*
Fva R, e PERI B ﬂqﬁ?ﬂﬁﬁ%m%mﬂmaﬁaﬁ
& UR=qUE TP UITH o eI 81 R eeal H, wWgfE $ g™ dr
AR @1 Wi 3iR Aferat F wrafRa fear T ST & o %
i o 5 sy o wafy it afear F enfire &, ok
78 N, fop &Rt Rrnfafmat Suery & Ry go e W @l |
qAfaRe fF ST oY aTeiR-ufear § wrieR @ ¥ orem € aiik
T HRUT A ge o1 F

ALl Wafe & 39 e @ U Siftd T Y & BT T W1
THT I & o R e At ST Y SHe Je IR R
IR, SFRIEAT & W et 20%, HY SR & SUR W)
HTUT STQ1 STHRIEAT & 39 e feraretr uterd fay oY ufer safes s
T AT ST Wl & 3R T &Y gfg-ax Y T oft &Y ST |apedt
; 3R T TRIT Y | e $77 AUl & YR W §9RY
3Rfes AAeTeT BT ATl paT ST Wbl 81 TE 3 arrepda &,
Tf5 I8 WYl HY S TR SU&T T Heit SRt 5 o uBr &
TRERIIGE AUl A Y ST oYl T8 a7 SISt & Hey TR
fet it oty <t gfig @y & St &1 7w 3 N g a2 s
T AR Y oY e 7 2 Ol 39 Frorer uiad Ry a1eR 8§ 3FR
T &Y, @ g FETEET 8 R 3 AT off 9 Frerer ufed iRy & o
SITY 3R S UBR -39 &Y gHRT 37 Nt &1 Werm d1e7 s
Sl $9 TR & PN T HFevS waraet wgfe & frem &t
STiREIERT e & ot GO @Y JuRTEiat 1 iR o o &
IE BT HRAT [ Taedd ®U | HRT Sl |gfg U6 PR &7
TR &R 3R &9 39 YA & & forg ard o o6 wafe & ey
TS Ry ATTfead 8
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1 The author’s central focus is on

(a) applauding India’s economic growth not only
against its own past performance, but against
other nations.

(b) emphasizing the need for economic growth which
is the sole determinant of a country’s prosperity.

(c) emphasizing inclusive growth where gains of
growth are shared widely by the population.

(d) emphasizing high growth.

2 The author supports policies which will help

(a) develop economic growth.

(b) better distribution of incomes irrespective of rate
of growth.

(c) develop economic growth and redistribute
economic gains to those getting left behind.

(d) put an emphasis on the development of the
poorest segments of society.

3 Consider the following statements: According to the
author, India’s economy has grown but there is no
room for complacency as
1. growth eradicates poverty.

2. growth has resulted in prosperity for all.
Which of the statements given above is/are correct?
(a) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

Reasons given in lines 4-5-6

1. Itis possible for economy to develop even faster
2. Itis possible to spread benefits more widely
Hence, both statements given in question are wrong.

Official Answerkey: 1-c¢ 2-c¢ 3-d

1 30 IRESS ¥, oiae P 31 BT s g AT 2

(a) WRa &Y, T Hael TP G $ G4 & FrareT 6t gorm d
e a7 AISGT 6T o § off, e wafy & merm
HEAT

(b) i WAl T STaLIHAT IR T AT, ST I2T Y FowIAl
& g Frafva &

(c) S quTareht Agfe W aer <A1, R ST |mae o A
Tgfeg & aral & wewTit et &

(d) S== dgfg RIS

39 URReDT H, e S AR &7 WH R 8, S

(a) 3w wafe B o™ F werw it

(b) 3T & JER FraRr ¥ e e, we gfg R T W ar

(c) oRfed wWafg som ik e Suafel @1 I
AR v ¥ e g, ST v geve §

(d) 9T & WO RIT Tl b e ) 97 37 § Aed
gt

frrferRad @Mt R R Hifog
TRy & forg 1S Jomser T8 &, Fife

1. wglg ¥ T BT S BT &

2. gfgwf$t aroTar d ol gg @

SLh HAT H W BIT-AR TE A2

(a) PaeT 1 (b) AT 2 (c) 1 MR 23 (d) TaT1, TE 2
GfepaY 4-5-6 % 37 1Y BIROT

1. 3refeagwe o7 3w ot aoft W fadr Wy &

2. oYl DY 3Afeb g WY W el wa &

T A A Ry W T Teaad & 1

Passage (Set-A Q. 4-5)

It is easy for the government to control State-owned
companies through nods and winks. So what really needs
to be done as a first step is to put petrol pricing on a
transparent formula — if the price of crude is x and the
exchange rate y, then every month or fortnight, the
government announces a maximum price of petrol,
which anybody can work out from the x and the y. The
rule has to be worked out to make sure that the oil-
marketing companies can, in general, cover their costs.
This will mean that if one company can innovate and cut
costs, it will make greater profits. Hence, firms will be
more prone to innovate and be efficient under this
system. Once the rule is announced, there should be no
interference by the government. If this is done for a
while, private companies will re-enter this market. And
once a sufficient number of them are in the fray, we can
remove the rule-based pricing and leave it truly to the
market (subject to, of course, the usual regulations of
antitrust and other competition laws).

4 Consider the following statements: According to the
passage, an oil company can make greater profits, if a
transparent formula for petrol pricing is announced
every fortnight or month, by
1. promoting its sales.

2. undertaking innovation.

3. cutting costs.

4. selling its equity shares at higher prices.

Which of the statements given above is/are correct?
(@)lonly (b)2and3 (c)3and4 (d)1,2and4

TRTPT (Set-A Q. 4-5)

WPR & 17 5T & warfied arell FafrRY B T Jeaf iR
S W FRIfre ARAT ST 81 SITTY Uge e & WU ¥ aRaa
§ a8 FR B TR § 5 I & Bra-FraiRor o e aRee @
R rerTRe fepar SITg - A deer et Y HiHa x iR faifma Ry &1,
T & AEW AT UEATS W, VAR USier dr iy Hea &
YT W, a5 S0 PIg WY @feh x 3R y & AMUR W yRepferd =
[HAT 21 TE QEATHT HRA o PRI a911 ST AR} o e
fRqU R aTel AT AT ®O W, OHT AR JTH @Y ]
SHGT deRiTE € 5 Iy P FFET Tavadsl W R SrTal @r
BT B o, Al a8 3R AP T T BN T UDR, T WUl $
3feri e TRTSH FawacHT 6 3R i s 3ik gar 8
SIS T R R Y SN 8 9T, &7 WRAR Y aRE A R IS
AT 7€ ST AfEw AR $T wHT & forg YT A R g, A
TSI FafRT S 9ok J O: J3er S SR O U IR I
T T STSIR ® 317 S, &7 89 frm-emenfRa Hra-fFrefRor @
&CT WH & 3R 3N aRafie ® ¥ a9 W BT Off Wbl &
(T &0 ¥ amwT W@ave ([N-RRE) ittt 9 se
Rt I & ST <& Y1

4 frafafed sl W RER Hif : aRess & aaR, 218 ad

FHFOY 3R iRy AT FHET Wl 8, I Ut & Hrra-freiRon
o T URG e 7 9RT gars A Are =iy e S,

1. 5P fIpd BT 9gTER

2. FAYGcl &b ERT

3. NIl ¥ BHl PR

4. 3% 3fFadr IRRY B SN HHal R T+

S FUAT H W BI-AR TE E?

(@) Pae1  (b)23iR3  (c)33fR4 (d)1,23iK4
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5 Consider the following statements: According to the
passage, private oil companies re-enter the oil
producing market if
1. atransparent rule-based petrol pricing exists.

2. there is no government interference in the oil
producing market.
3. subsidies are given by the government.
4. regulations of anti-trust are removed.
Which of the statements given above are correct?
(@)1and2 (b)2and3 (c)3and4 (d)2and4
Official Answer key: 4-b 5-a

5 frfafed sl R fER HIRT : akess & sgaR, wgae aa
HEfRIT et STUTE & aToTR § G HareT el 8, Af—
1. U uRaelt Fr-smnia 9die &1 Hra-frivor sk

dar

2. el TS & AOIR & ARBR P IS &qQT T8
3. PR ERTSUSH Ry o &
4. GErove (R-RRY) & fafrmt e ger Rar e
U P! F BI- qE E?

(@13iR2 (b)23R3 (c)33R4 (d)23ik4

Passage (Set-A Q. 13,14)

Climate change poses potentially devastating effects on
India’s agriculture. While the overall parameters of
climate change are increasingly accepted — a 1°C
average temperature increase over the next 30 years,
sea level rise of less than 10 cm in the same period,
and regional monsoon variations and corresponding
droughts — the impacts in India are likely to be quite
site and crop specific. Some crops may respond
favourably to the changing conditions, others may not.
This emphasizes the need to promote agricultural
research and create maximum flexibility in the system
to permit adaptations.

The key ingredient for “drought proofing” is the
managed recharge of aquifers. To ensure continued
yields of important staple crops (e.g. wheat), it may
also be necessary to shift the locations where these
crops are grown, in response to temperature changes
as well as to water availability. The latter will be a key
factor in making long term investment decisions. For
example, water runoff from the Himalayas is predicted
to increase over the next 30 years as glaciers melt, but
then decline substantially thereafter. It will be critical
to provide incentives to plan for these large-scale shifts
in agro-ecological conditions. India needs to make long
term investment in research and development in
agriculture. India is likely to experience changed
weather patterns in future.

13 Consider the following statements:
Climate change may force the shifting of locations of
the existing crops due to
1. melting of glaciers.
2. water availability and temperature suitability at
other locations.
3. poor productivity of crops.
4. wider adaptability of crop plants.
Which of the statements given above are correct?
(a)1,2and 3 (b) 2 and 3 only
(c) 1and 4 only (d)1,2,3and 4

14 According to the passage, why is it important to

promote agricultural research in India?

a) To predict variations in monsoon patterns and to
manage water resources

b) To make long term investment decisions for
economic growth

c) To facilitate wider adaptability of crops

d) To predict drought conditions and to recharge
aquifers

Official Answer key: 13-b 14-c

TRTET (Set-A Q. 13-14)

Sierary aRed, WRa @ BT R A wo F Rreaaart ora
AT 31 9, Ty URaci & WHT AT JHH: W &
3FTer 30 9 H 1°C &Y 3w a1 g, S AT ¥ 10 cm A FH
& W a1 gig iR &SI TR freROT @R W gy —
RA H TUTE BTHT T 0F Hret RIRTE 81 wvifra 81 o weret
aRercierefier qemait & ufitr srgger sfiftrar & Wt &, St 72 oft
T WA ) R P ITAUN BT WATET o SR Humedt §
TP & Wb T 2, IATUDAT THIAT T Y LIS TR
T TS Bl

“IFTGY e BT TET WHSH 37T ST BT Hefre GafRor 21
HEEqUT ATeTRE BRIl (1Y, 5) i IR Sut AT vy &
TS AT FATT B FAT Y STeredrds &1 el 81 Srarfafer frarer
& T & § ST U T 8T PR SN IRTER0T &
forg, arTer 30 auf F SRI-SRY ferere Rrererar o €, fewmera @ Ry
T & 9819 B e N 3R ISR AR g AW BT
gafgar fhar R g1 SRRl gemett § a8 T &
a3 geAEl $ A AT M ¥ HIATET Ue @R
froraes gFm wRa & g Pty srqeeT sk ey § Srafafir
forareT =T STTAeAd §1 AT WTRIT & o W= &1 i & uap awer
Y 9T TR ST WHAT $RATERT |

13 frfafed oMl R fER $ifg : Seary aRkads ad@ =
T & FATI F TS A F g e HIRoT F ToR aNr?
1. fewet ot Rrererr
2. TR EAM R T IUSTeT 3R AT SuFehelT
3. Il Y I ScaTEandTl
4. I UISHT T ATETPT ATIS IFTGerar

IUYH BT A A B TE 2
(a)1,23R3 (b) Paer 2 3R 3
(c) aeT 1 31X 4 (d)1,2,33ik 4

14 3 URTBT & VR, URA ¥ PR IFTHUE B gom@r
wEaqui i 87
(a) AR uferedi # fRERr &1 gafpEe #=ar sk @
(b) 3 wgfe F forg Srafaflr frerer & fofa war
(c) WA Y EATIE STTHEAT BT JHR T
(d) SFTgRE S BT qafgaE BRAT 3R S FerwRI B
GTHROT RAT
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Passage (Set-A Q. 15-18)

It is essential that we mitigate the emissions of greenhouse
gases and thus avoid some of the worst impacts of climate
change that would take place in coming years and decades.
Mitigation would require a major shift in the way we
produce and consume  energy. A shift away from
overwhelming dependence on fossil fuels is now long
overdue, but unfortunately, technological development has
been slow and inadequate largely because government
policies have not promoted investments in research and
development, myopically as a result of relatively low prices
of oil. It is now, therefore, imperative for a country like
India treating the opportunity of harnessing renewable
energy on a large scale as a national imperative. This
country is extremely well endowed with solar, wind and
biomass sources of energy. Where we have lagged,
unfortunately, is in our ability to develop and to create
technological solutions for harnessing these resources.

One particular trajectory for carrying out stringent
mitigation of greenhouse gas emissions assessed by the
Intergovernmental Panel on Climate Change (IPCC) clearly
shows the need for ensuring that global emissions of
greenhouse gases peak no later than 2015 and reduce
rapidly thereafter. The cost associated with such a
trajectory is truly modest and would amount, in the
estimation of IPCC, to not more than 3 percent of the global
GDP in 2030. In other words, the level of prosperity that the
world would have reached without mitigation would at
worst be postponed by a few months or a year at the most.
This is clearly not a very high price to pay for protecting
hundreds of millions of people from the worst risks
associated with climate change. Any such effort, however,
would require lifestyles to change appropriately also.
Mitigation of greenhouse gas emissions is not a mere
technological fix, and clearly requires changes in lifestyles
and transformation of a country’s economic structure,
whereby effective reduction in emissions is brought about,
such as through the consumption of much lower quantities
of animal protein. The Food and Agriculture Organization
(FAO) has determined that the emissions from the livestock
sector amount to 18 percent of the total. The reduction of
emissions from this source is entirely in the hands of
human beings, who have never questioned the impacts
that their dietary habits of consuming more and more
animal protein are bringing about. Mitigation overall has
huge co-benefits, such as lower air pollution and health
benefits, higher energy security and greater employment.

15 According to the passage, which of the following would
help in the mitigation of greenhouse gases?
1. Reducing the consumption of meat
2. Rapid economic liberalization
3. Reducing the consumerism
4. Modern management practices of livestock
Select the correct answer using the code given below:
(a)1,2and 3 (b)2,3and 4
(c)1and 3 only (d) 2and 4 only

gReeT (Set-A Q. 15-18)

TE RIS ¢ foF g7 Neew TNl &1 o gerd 3
T ARE T asf ofk gt & @ arel Serary aRad &
TG JIANT THTET W TR IO P G B ¢ Foat &
JeUTE 3R STUNT & AR TP & T ST g5l IR
BT STiared $eT uR Srcafie friRar & gear aifefaefaa
2, freg v 9, sitenfirdi R e siik sroafe e 8,
A AR W Aoy, fF der Y sienpd fre il F o
IR & wmﬂﬁﬁmmsﬁvmﬁ
frier @1 SieTeT T8 & <&@ %lswﬁqmm
Sifamiar & w9 H gaq T W TSR St B HE A
M & SRR BT ATH ISHT URT S 97 & Y 3rearaeas
B a5 I Fort F AR, Ay AR ST Wl ¥ s
T 21 QUi 9/, Sief &9 99 &, a8 © 7 |l 3t o A
o ¥ f1e senfreha e Refa sk afdfa e &t
TR & |

Sierarg gfReci= uR 37T AP Ue (IPCC) FRT frreifa v
4 fiersw i1 B AR § B B & forg oo fafdre maw-
TT TUE W9 N I5 AT T Y sraegear Rt &
o Mrerew vl & eelia Sl & a=F fivg 2015 &t
TR T R IR IS AT ASH A TS 1 & FAT-2 F AT
Jag o o Wi § ok swdht At e &
3w H, 2030 H forer GDP & 3 wfcrera & aiftres & gFi
TR ARl ¥, wreIar & R wR o) forer T Sewei A
P A 95T b, TRIE-Q-ERE g § PO AN AT
- -3 T af T @er STe e Ig, Sierarg
IREd § TS TR TRl | FRIST A B AW F fore
Waﬁmﬁaﬁs‘agaa@raﬁwa@r%l onfYy, o et
TN & g Siaw-dfert @t off Sugw w9 & ageT
MNeerew Wl & Scao A i @ R o dienfidha
I R L 8, 3R 50 g Tee: Sfte-dfert # qgema
3i% et i anfdfer wmmT & WuieRor sfdr 8, R BT,
IS BT TUTET HO A B9 T o, S o Sftg o &
HIHY BT AT H ITHNT & ATETT 1 WTET T Sy WIS
(FAO) 7 g frraffRRe i & fp ugrer & & S ot
IS BT 18 HfeTerd EaT 81 59 AT A &1 I8 Iewor
P T O TRE AT b gy ¥ B, e st i3
qTel TUTE TR Y IS T TE IST aRT: IexorT |
AT & fremer WA 8, SIY STY&Tha 9 AR Sy 3R
TR W ATY, IR Frorl G T SR 1R
ASFIR |

15 Re8T ¥ AR, Frrfafad & & HH-3 ferew i &
I P P B T AEIH 82
1. AT P ST F HH AT
2. Mg anfdfe SerIERur
3.  IUHHERE J HHY AT
4. U B MY Teee wfhad

Frar T T e BT I IR WE IR AT
(a)1,23R3 (b) 2, 3 3R 4
(c) Paer 1 3R 3 (d) Paet 2 3R 4
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16 Why do we continue to depend on the fossil fuels
heavily?
1. Inadequate technological development
2. Inadequate funds for research and development
3. Inadequate availability of alternative sources of

energy

Select the correct answer using the code given below:
(a) Lonly (b) 2 and 3 only
(c)1and 3 only (d)1,2and3

17 According to the passage, how does the mitigation of
greenhouse gases help us?
1. Reduces expenditure on public health
2. Reduces dependence on livestock
3. Reduces energy requirements
4. Reduces rate of global climate change
Select the correct answer using the code given below:
(a)1,2and 3 (b)1,3and 4
(c)2,3and 4 (d) 1and 4 only

18 What is the essential message of the passage?
(a) We continue to depend on fossil fuels heavily
(b) Mitigation of the greenhouse gases is imperative
(c) We must invest in research and development
(d) People must change their lifestyle

Official Answer key: 15-c 16-d 17-b 18-b

16 & Sitared $H1 R rcafie Pk #f v gu e?
1. Iuate gEnfehT RerT
2. IgHYT SR faer & fag sroafy Fmt
3. ol P Ipfeum Qi H JUATH SueTeerdr

e g T e T TART AR [ ITR IR
(a) PaeT 1 (b) ¥aer 2 3R 3
(c) FaeT 1 3R 3 (d)1,23R3

17 IR=ST & TR, Frersw {al § & AT g forg femer
TNE WEE 87
1. AN N R & Hedr &
2. SO LY R FniRar gedt &
3. SO oIl STaeIHAN Teel &
4. TR TS STerary afac Ht & Tedt &

e fQ Y e &7 AR R [E IR G
(a)1,23R 3 (b) 1,334
(c)2,33R4 (d) Paer 1 3k 4

18 S URTOT BT ARYT WL T 82
(a) & SftaTed $o R rcafte R gu e
(b) TFTETS AT & BHY AT SIeAqTaLAE &
(c) & IrRiuT 3R freprer & ferarer o &t anfag
(d) R Y T Sha-Stel agert & =rfey

Passage (Set-A Q. 26-29)

The Himalayan ecosystem is highly vulnerable to damage,
both due to geological reasons and on account of the stress
caused by increased pressure of population, exploitation of
natural resources and other related challenges. These
aspects may be exacerbated due to the impact of climate
change. It is possible that climate change may adversely
impact the Himalayan ecosystem through increased
temperature, altered precipitation patterns, episodes of
drought and biotic influences. This would not only impact
the very sustenance of the indigenous communities in
uplands but also the life of downstream dwellers across
the country and beyond. Therefore, there is an urgent
need for giving special attention to sustain the Himalayan
ecosystem. This would require conscious efforts for
conserving all the representative systems.

Further, it needs to be emphasized that the endemics with
restricted distribution, and most often with specialized
habitat requirements, are among the most vulnerable
elements. In this respect the Himalayan biodiversity
hotspot, with rich endemic diversity, is vulnerable to
climate change. The threats include possible loss of genetic
resources and species, habitats and concomitantly a
decrease in ecosystem services. Therefore, conservation of
endemic elements in representative ecosystems/ habitats
assumes a great significance while drawing conservation
plans for the region.

Towards achieving the above, we will have to shift toward
contemporary conservation approaches, which include a
paradigm of landscape level interconnectivity between
protected area systems. The concept advocates a shift from
the species-habitat focus to an inclusive focus on expanding
the biogeographic range so that natural adjustments to
climate change can proceed without being restrictive.

gRTBT (Set-A Q. 26-29)

TP WA F Qe MR I wElHd gHfrl /o
qET & HRYT, &7 F Ry st e B1 FEIT & ¥ UE
Searyg aRac & TdTT & HIRUT ST &Y Wbl 81 I8 T &
6 Sterarg aRad= femrer & oivasr @, 98 g7 o,
ATedH |, TRiger T STell A€ T haet Sl § e arer
e WER ¥ R frafe i, afew AR I F ok Swd W
Ut &5 ¥ g arer FraTiRit & Sia o) SR STerm
gaIferg, femrera & aTRe Y erRofigaT sTg X & g Rrery
I 7 B qoprer JEeddAr ol gad  fog Wi Freue
TUTITETT o WRETOT & foTq Tere HRree ey &t STraeaasaT gl

Y, T W I & I raeddm g fp Dt @nfyy ara, iR
gguT Ry smariy sMaedars arer frewaEt aeh
aife e gedl § F 81 39 9 A, Rt @7 Safdfererar
Tt TEERr, St fardwasht fifdrerar & wuw 8, Serary afkecd
& TRy gHET 81 P BRI F, AERE  FATEET 3R S,
STTETRAT T AP &1 3R AEHT W9 9, uIiRes & A &
HHY BT T afireT 81 Safery, S & & forg werT Aoy
TR W, feue aTRaE/STaT 3 R gewt & wRar
P 37T FE<d 8l T 2l

SUeh P BTRICT B T fe #, & FHSBTEAT HRET0T SUTNTHI hr
AR A ARG BT B, o R S-yonferl & S
eI TR Y SRS T MR et &1 I8 W,
TTFI-3MMART TR €A higd AR T SR SaFNfered RN Bt
iR R R Tl eaT-RIhEuT R BT USRI HRedt
I b

Separate explanation videos are available in English & Hindi
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26 Consider the following statements: According to the | 26 frfarfad weml o RER FfT: afkeoT & SR, TRax

passage, the adverse impact of climate change on an UR STTaTeT URadT 3 TRiher THTEwTw™T

ecosystem can be a > o i R . -

1. permanent disappearance of some of its flora and 1. T o ﬁﬁ@mw
fauna. & e &

2. permanent disappearance of ecosystem itself. 2. T uTRas BT R felusT &Y WaaT &

Which of the statements given above is/are correct? gqgﬁm#q}aﬁqmmw%/g?

(a) 1 only (b) 2 only (a) et 1 (b) e 2

(c) Both1and 2 (d) Neither I nor 2

(c) 18R 2 gAY (d)Tar1, T2

27 Which one of the following statements best implies the | 27 frifeRae & & o v e a1 wet Wi frfeamef ag & fo
need to shift toward contemporary conservation AHBTENT TRETUT SURTT T 3N T ART HI Y
approach? JTaTHAT 872

Exploitati f natural t . . .
(a) Exploitation of natural resources causes a stress on (@) 7 a1 ST RPN

the Himalayan ecosystem.

(b) Climate change alters precipitation patterns, STeTe & )
causes episodes of drought and biotic (b) STeraTyg gREct & PSR a¥ur gRedl § g8, SR
interference. # geard sk NI RadT AT e

(c) The rich biodiversity, including endemic diversity,
makes  the Himalayan region a biodiversity

(c) W Stafafererar, forer Rrdrwash frfrerar enfirer 8,

hotspot. ReviTerar 8 o1 Qe Stafaifeerert croeeret ama &
(d) The Himalayan biogeographic region should be (d) fETerr & Sreniliferen &1 T 59 ave el aT ATy
enabled to adapt to climate change smoothly. fih a8 3raTer B A STeraryg aRecd & ufiT 3 aaT I
28 What is the most important message conveyed by the | 28 3% uRedg aRT T waffie Tewaqui waer far w=m &2
passage? (a) frerwaraT femrerY &y emerfdres ferevar &
(a) Endemism is a characteristic feature of Himalayan

region (b) RETOT TRITAY BT e BeTOR STl AT SATATAT b T U
(b) Conservation efforts should emphasize on SERINISER N W@F{Tallgq )

biogeographic ranges rather than on some species (c) Srerary uRet @ fEmrera & uTRRe R wiiewer ora

or habitats. §'3]T%’
(c) Climate change has adverse impact on the (d) %W%W%mﬁ,m@ﬁsﬁvw

Himalayan ecosystem. . Ny :
(d) Without Himalayan ecosystem, the life of the &t & ) & T DI HRVI-STR TE ErI

communities of uplands and downstreams will
have no sustenance.

29 With reference to the passage, the following | 29 ufkeoqd wewf ¥, FrafoRaa qdemmomd a=ms w€ &:

assumptions have been made: 1. VTR TR SHTY X@d o1y, TTepfres wames &

1. To maintain natural ecosystems, exploitation of R
natural resources should be completely avoided. a}'ﬁmq‘:&m et ST e

2. Not only anthropogenic but also natural reasons 2. uTREH B, 7 aet AR, WWWQ&
can adversely affect ecosystems. Flﬁ?lfcﬁl TUTRIT &R Al &

3. Loss of endemic diversity leads to the extinction of 3. frdrash fifrear & e Auiia o1 freiua 2 ar 21
ecosystems. SRR RO & A I A A A 2

Which of the above assumptions is/are correct? b

(a)1and2 (b) 2 only () 191k 2 (b) et 2

(c)2and3 (d) 3 only (c) 23R 3 (d) %ereT 3

Official Answer key: 26 -a 27-d 28-b 29-b

Practice these questions yourself after gap of 1 week. See official answer key from here

1 FHTE & SFCRTCT &b 1S 7 THHT BT STITT T PR TP TR §
https://allinclusiveias.files.wordpress.com/2024/02/csat-official-answer-key-till-2022.pdf
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